
(Terms of Trade and Gains from Trade) 

afesT 56 I aTfts T (Terms of Trade) : g 

aTft 1TTI B (The terms of trade is defined as the quantity of 
domestic goods that must be given in exchange for one unit of 
imported goods) IioT TA9TS TT 7 IN AAAI A 

ATAMITA 

q0 



TSl x T31 itAA 

S. ai7 RTa fAR R (Different Concepts of 
terms of trade): a1i9y Z TUZTI K1411 37 I afofan 

) 1 *J AfA3I afsts774 Z (Net barter terms of 

trade) 

) T fI f74 BÑ (Gross barter terms of trade) 

1)T AT 74 56 (Income terms of trade) 

T)4 na4 T9 (Single factorial terms of trade) 

a) Ran @1 Ga 24 (Double factorial terms 

of trade) 

a)apo A 56 (Real Cost terms of trade) 

)tTanfre1 tT 3 (Utility tems oftrade) 

I)fAe *T aFaa TAT R (Net Barter terms of 



Exampie: 2004 5e a aR be atT A 160 200 sT TE 2000 Be fefs an RDIA AST 

Answer: 

Pr Px NBTI Pm, Pm, 

fuR,Px fsfs am agfi = 100 Pm fefs a UNA = 100 

Pm 

Pm 



200 160 
x100 

00 100 
200 
x100D 
100 

= 1.25x 100 125 

7s Aod 4T ATA a1fqy 2 (125-100) = 25GR1 fGTG 

Example 2: 2000 bAT TA 7QfA 5itT 100 
14C 2004 5ATE 7Q1 J5IRT 170 140 

Answer: ITA TI 

PxP00 NBTI Pm,| Pm, 
140/100 

100 
170/100 

PxPX100 
Pm,I Pm 
140/100 

100 
170/100 

82.3 

wfe 2000 5 RTE 2004 55 cateaa fAes U af 
T 7 (82.3-100)= 17.7 et aioC 



R fros fafa TIfUyRI 7ATCTDAT (Criticism): 

(1) zb UT 1D7 TTI (Problems in the construction 

of index number): fAs6 1 RAA 4TDA 

(2) ewa (Change in Production): fioG 4T 

(3) T (Period of Time): o qeT R aff 
8 



(4) aiy a 7pI (Faulty index of Gain from 

(5) aits tt (Wrong explaination of the termns 

of trade) 8 eoI oDII C q7 TAIAA 7 51R 

2.2.3.1.(b) ad *T AfaAN af9y b6 (Gross Barter Terms 

of Trade): fAo 9s0 AAA TT 5 CAAE TI COTT AITR 

GBTT= =100 
Ox 
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